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NOTE: Write same question number -‘Lbj)dg.gpjlfﬁgé;: C‘uﬁ/’,‘)f)ﬂ/fd'}’@){(&g@ﬁ s
and its part number on answer book, as given in the question paper.

SECTION-l Jil.2

-

O\
ELECTRICAL WIRING

MAXIMUM MARKS: 32 _ 32

2. Attempt any five parts. 10=2x5 -g‘.?;/“_-«ymélzréga.dl -2 /:‘.Ulr‘
() How can consumer check the record of supply company? ?("_CCA_&.(Jd_./ 5;@/515‘3&5_;)& (i)
(i) What is meant by rectifier circuit? ‘.’(;_:l/l_f;.;..*ff/}léﬁf‘g (ii)
(iii) Define step down transformer. _é ..é!ﬁdd/;lsﬂ/‘uiﬁ.;}' (iii)
(iv) Define inductor. N\ A %@;\/f"ﬂ(f&’ (iv)
(v) Whatis meant by DC Motor? B (v)
(viy Define Generator. (:] \ A~ S -“‘é i ﬂﬂ’z Ao (vi)
(vii) What is meant_ byxﬂlablé c:apbj;’;x‘(;}tc)r*rT - fe sl S 2 (vii)
(viii) Def\él\ui)\r[\ ng prmmple fo a transformer. ~4UJ;-‘IKL/?'E’£/JGJI/‘ (viii)
3. Attempt any five parts. 10=2x5 Efeelinble & 340y
()  What is meant by frequency? ?‘L)l/l[c;g:';f) (i)
(i) What is meant by primary winding? ?A‘ﬁ-ﬂ/gc.j Ay (i)
(i) Define Impedance. dé...@/-fu{gf”:-hﬁ" (iii)
(iv) Define Armature. EaiS sl (V)
(v) What is meant by Motor Torque? e e S (V)
(vi) Define Di Electric. _E 5B (v
(vii) Write two advantages of Eddy Current. S -é ;j}@;gﬁdf)ﬁjy (vii)
NOTE: Attempt any two q.ue(stlons_ ™ \ 12 w"&.x 2 - -;Z,/j}, ;mzi.:. JJlfua.Jf -y
4. erte dJli"'fe r}?ejk?éMeen"Eartﬁ and Neutral wire. -_éugd/'ufuut'd/‘,éulm’zl -4
5. Explam types of transformer due to its construction. -ué:.»u:JrL'A'!J e bl e3 L 5

6.  On which points capacitance of capacitor depends upon? ?g_f?.:,bﬁ'djuf'lf,_,uﬁyﬂs JJL..‘..S -6
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Note: you have three choices for each objective type question as A, B and C. The choice -d"):&d’?;;c.«lllr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Minimum size of earth wire should be: N e (777
(A) 8 SW.G (B) 10 SW.G (C)12 S WG N
- ~1 ../_\\. (,:3 KF\\\\" \rn\\”l's\‘ﬁ
(2) Current whose quantity and direction remains -~ e },ﬁ’,{ 1z -'\# )i g‘%)dz&l (2)
A\ '\\ \ Y\ \ /-\". \.\ \ e ®)
constant is called: a \ f//r\\ ((\‘\) "\\\\9\_1‘5\'\_)5 -
f \ ey ‘*\ v N \\ oA
(A)AC (e \\ \\ (EQ O\ wis= (C)BC 4y

Electnwwﬁé @ilpar‘ts remain ﬁc‘:_(:‘lk( W £rb£u’J (3}

constant is called:

(A) Generator &2 (B) Motor (C) Transformer 417
(4) In variable capacitor series of moveable - bllff.iz'-f(uf*dba_fuffj Juu_.S/,,g 4’7 (4)
plates is called:
(A) Commutator Zs¥  (B)Rotor A (C) Di electric =141
(5) Ability to store charge is called: ,q;igff.:.fuﬂgfé_f{j"b;k (5)
(A) Henry (# (B) Farad 54/;" (C) Capacitance uiiiunS
(6) Function of commutator to change AC 3 bl :c‘-_.bl_;kﬁ;dddh@‘;@.;)ﬁu’-d?ﬁf( (6)

into DC is called:

(A) Commutation «*+§  (B) Capacitance M ;

_/

(7) Generator in which armature _awtifq_xw’ ipgnm..xyfu"‘ui*

[ I

jyl}xgulufkb_,m‘)l&/ A% (7)

.. \\ ™

winding and field wmdmg aré \‘(;onnéctedm serles is called:
Shupt](ﬁghplémﬁ}/w ) Compound Generator %2430 (C) Series Generator &2y ~
(8) Transformer which increases voltage is called: -ug:af:;v W’J}Ll,z.._;/bzig:g/. (8)

(A) Step up transformer /‘JWU&;J# (B) Step down transformer /JW.I/AL'Jﬂj?-{)" (C) Core S

60(Obj)( 3¥)-2022(A)-500 (MULTAN)
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ELECTRICAL W"-‘i'JN \ WAL
\ \ L

TIME Au\\mwtﬁ TINNAY OBJECTIVE (5% e 10 =

MAXIMUM MARKS: 8 8= AF

A o Lftfﬁf*wyuafﬁuliw—wa—(ﬁ uE s :ét/édb’//(éﬁ}fi gdéiscas BA Mz bl Ny
VEIN V) _beL:J/deuj Y, ){)1/51 .fmr"kl&ulfwﬁufuzﬂu._& e é.fJuubuL/cﬂ_f E
Note: you have three choices for each objective type question as A, B and C. The choice -Q/G-J’)}:,mf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Ability to store charge is called: dq_f.fi/f-.:fllﬂd/sl,./g'b;& (1)
(A) Henry (B) Farad 3i2 (C) Capacitance (uifyuwss
(2) Function of commutator to change AC _r_rM rz_rwc, gi\k,ffq @fg (2)
. . _ \e\ 1)
into DC is called: “f \’ ﬂ .\‘ \) \\
(A) Commutation u \ ’G\\p G‘Ita =« ALY (C) Induction ¢/ »l
\

=g,

(3) Generat& Yﬁ‘\r]}\\éf@ }e uz_ t*(au, rj bUIa by Tk w;&mfﬁﬁbﬁﬂﬁﬁéﬂw (3)
windi \ahd field winding are connecied in series is called:
(A) Shunt Generator # % »x*  (B) Compound Generator ﬁ.;:.i-sy’ (C) Series Generator 7y «

(4) Transformer which increases voltage is called: -;{?g&u W'Jjé._la;/_._..)/w/.ipé/_ (4)

(A) Step up transformer st'l/’_;h?.,? (B) Step down transformer /Jw'f}uiifjf? (C) Core s

(5) Minimum size of earth wire should be: -k Lr/LzH l(&étml (5)
(A) 8 SW.G (B) 10 SW.G (C)12 SW.G
(68) Current whose quantity and direction remains -{__&va s%ib&péfjﬁjlj.@&u)')/ Jz{}f‘ (8)

constant is called:

(A) AC  J=! (B) DC U}
(7} Electric device whose all parts remain (7
constant is called.
(A) Generator 2% | | (C) Transformer -1/
(8) In varlabjg tfaﬁa?w@l benesﬁ moveable _LVLH»if{ur*Lub._ u‘(ju}l‘,.uu_&/ (8)
plat\_'r is cal!ed
(A) Commutator <+§ (B) Rotor /v (C) Di electric Idf:
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ELECTRICAL WI 9 9 % 20
TIME Amw&i IR OBJECTIVE (4. 2410 = &
MAXIMUM MARKS: 8 8= S

Ao | S se el rerne b o iz E v gdbin «tEE s C il B A SWRFELyy  -2d
42 L-drl ..fi.@&:uf%éf;ﬂ@)ﬁ&ép)ii J{J:/'l: -b’n;r‘jbli.._«lﬁuﬂufwffd/é_& Sk LS s Hmslse g
Note: you have three choices for each objective type question as A, B and C. The choice -u",f:d’f};_-,mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling twe or more bubbles will result in zero mark in that question, No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A

(1) Transformer which increases voltage is called: - ,.)}JWULIM,;/L»%;:&J: (1)

(A) Step up transformer /JL'@JUTF_TJ' (B) Step down transformer /quwhuw (C) Cor/e S

\

(2) Minimum size of earth wire should be: g\fw[/" @j\)@ﬁml ()

- 0\ 0
(A) 8 SW.G (B) 1@(5\ \\ \\\u \@ 12 §.v
J \ L
(3) Current whose quanh@ pdp (e\c@\n AN -.f_JLL«‘ Jw‘_xm !,wju’ud/tf! (3)
\ hi S
constanj § Oﬁ% \\
N
(A u._t (B)DC (U3 (CyBC uud
(4) Electric device whose all parts remain -.§_t11-f rﬂ;/g(v&rﬁé:gﬂﬂ&/,tgl (4)
constant is called:
(A) Generator 7 (B) Motor 4 (C) Transformer 61/
(5) In variable capacitor series of moveable ~e t'“fg-'l'“'{u_..vdbd_;u(]dhf_‘uﬁ/ /’ 5)
plates is called:
(A) Commutator ﬁy‘l( (B) Rotor A (C) Di electric u%ldlf
(6) Ability to store charge is called: g epe§i TG (8
(A) Henry (4 (B) Farad jl/:" (C) Capacitance (,...\.._\_M_LS
(7) Function of commutator to change AC -LVM b va«ebﬁ?@ fe.’.@é\&afg?f{ (7)
. . . O F L (" \ \\ l‘ \ /\ A
into DC is called: 7 0\ ." A \ ‘-._,,3 | |

(A) Commutation u“"ﬂ- ik WC\B} Céﬁoa‘&éﬁ uu.u.a.m.\_\S (C) Induction J'C*cl
hy T 2,
(8) Genera r\rr\mtik\qléwﬁa%m(e _a_rw;.-, de DG AVABSAB I bs,MJ\J&ﬁ.ﬁw (8)
w:nd\ajg and field winding are connected in series is called:

(A) Shunt Generator £z 7 »+*  (B) Compound Generator j'.;i.)‘cfi;" (C) Series Generator # 7y
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A

Lo B

TIME ALE\@VUED‘ 10 Minutes OBJECTIVE (§%*e @ 10 =

=3
MAXIMUM MARKS: 8 8= AF
Se o\ S el zeene gt L E 602 L L C il B A ALl Dy )

{,.3_4,._}'}1)’ | _E’pruﬁ//éflﬂw.'ﬂ&)_);i J'Du’l: -fﬂ;raui?lfuﬁdf:w‘(f J_):;’, Jok b L/qu,ﬂmyr,u_ﬁ _’é:
Note: you have three choices for each objective type question as A, B and C. The choice -q):td’}jfwmr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Current whose quantity and direction remains -+&M r‘LJJ“;‘MAUWJu)'uJ/.Uf‘ (1)
constant is called: _\\,\?\\?ﬁ
(" VA ALY
\ p\®\
(A)AC et (B)DC (53 -y )t Q\\ggd. /f \,«\;/& \
e W\ T S

(2) Electric device whose all parts reman‘r 7\ O\ '\Qja"y ‘U'z.d'-JJV&fVLU)J'd/L)'

\

N\ V¢ )
constant is called: (‘”)ﬁ\\." \'\\:ﬁ C /\\\ \*\’ \\ -
“ep' f}\j ’ o- o B) Motor (C) Transformer i1/
(3) In varlable capacitor series of moveable dc‘_wf@i*ifu;:&dhi,faf]uf;“ﬁs_/%j
plates is called:
(A) Commutator <»§ (B) Rotor A (C) Di electric J}QFJU
(4) Ability to store charge is called: Y-8 VA S "
(A) Henry ¢/ (B) Farad 32 (C) Capacitance (uitsuns
(5) Function of commutator to change AC ,Latllp’/ r‘;_L"%Qigﬁdd&"fd;léﬁéu‘zfﬁ’)frf

into DC is called:
(A) Commutation ¢ (B) Capacitance (uitsusyS  (C) Induction o

(6) Generator in which armature “at“lg—b‘fr_ruj/lgdjﬁui’g/fufu:,’fj l;,dr';sl._»rl:_,.:....wﬁfﬁﬁul

winding and field winding are connected in senes 15 callad  t

* (A) Shunt Generator P (B) Cpmpounﬂ\ Generator ;jz \”it}l""’fC}"Series Generator %72y

P :. { A O\ B

(7) Transformer whlch mcr‘easﬁes\ \mltage iscalled: -t 213/1 li)'l}i_l;;.:/lp‘/jl_,;@/,
\Seﬂ ﬁp trfjihsfgi‘mer /JM/_AJ (B) Step down transformer G143 l;h’.} (C) Core A
(8) Mwmum size of earth wire should be: _g‘,l_ptnfbﬁifbﬁuil

(A) 8 SW.G (B) 10 SW.G (C)y12 S W.G

60(Obj)( 7 T VC)-2022(A)-500 (MULTAN)
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